P YT

113 %107 09 p

- ARTR
BEER 9 kR BHKEF | SRE Bx | {En
#3E A | B4R/ Python A2 %3 By | FER
- ~KEER
B33 AP &P F GRurfesd)
| LRAFFEnEYRRT 1.8 %Y R 2o
£
G2 RANEVF? 2.EYF AR
ol .
13 FLEFRANEV P F T 3. F LA
L XFELZ BT ET? X gapFaas -
43
PRI SRS Y FEUD WINPT SVEE 50 oF A cE U
#
3437 APRALRGE S 9
g
3 1.E2 57 3458 ~ H#kics
- fj R i 1EF A 3 8 243
3‘3 FE” . ‘ —
g . Z;fi{?iﬁv?%%ﬁmﬁ 2.8 4 & w kR AL o
! L
> 4 5 3 2F 33 o
NER FER SEFE TR 3. F LA BILTALD R
4. B4 A InLARA BN
RY (Ir: BV E L RpEH
£)°?
LEIEYETF ~c? l. 7 U RpEE 2 c@FY e gk
T legsnzseyAne HF Y Foxe
¢ 2 SR CHY REEL R i o
B35 nL Y RRAIRN? ‘ B
4.8 RFHNEY?




=~
Lpgigs 36 HA RS RS T
F%(';g @%EJ&‘&;’ ’ %g—}?*/,g A
.pe & F it

. gﬁcii/ﬁ'ﬂ%ﬁ"g
EAFS B R 4F 0 EE

9

P @HE L

*RY pE R

lk_&&")@ﬁl—}’ﬂ inb/\:"

3 = 4+
¥ F 3

o

CEMEEL LR I I REFY L RENAE
S iE 0 P oA e r




Bk i

113 %107 09 p

- CARER

BARER | vERY | EEKR

FIBY E % 1 & &

$RE A~ | A4S / Python #258% 3

S

S kEFER

B33 AP &P F GRurfesd)
> LEZF X EYRR? 1. F 4508 ¥ B o
2
AP ESELEE TR 2.8V Mk .
) P
EE PR R PR P X 3. F 2R
LE¥FR3 7 pE287 2 1. X fF € prie AP RE T 5 5 4 27l
43
PRI ESRD Y FETS AP E S EIE UL SR AR %
#
% 30737 BEpRAL gy | FERILC
4
s L2 223480 s Habfo|
3?3 U W1 1FF4 32?23 6 o
ﬁ' e !
B o gsRpakrpimapr? 2.5 L0 TS Bior B AL
A
S 3 giisRzisano 3FLiHAEYHDRY -
4. 83 B30 %13 A & MR
§ BV E A misf¥)?
LE2EYLFF #0e? RS EE R i
§ 2’? (F:‘:ﬁ? ’ 4{:/7]’357?\ °
(28283387 Ao
E:
3‘3
;% .EchL Y RRETIEN?
LB ETHENEY?




3. e &

i % ak&‘%— , g”/\*l\f.l_fi_'_gié-o
2.FF A T UdF o

B

I
4
\

%

EF RN Y

a7

L ©

it

woEmED

4 2
T _—~ J )

?lz%t)\_—l—["iﬁ:a%’ggg/,;’

pAaEY g

VSRR L

Fl*r FEREEY 8 RENA ERd Rt T h
TNT 5 %% Python #4258 » 7 i 5 Flap50 & %

,fjk:
Ke ST L AE
N TAPE LI

B
3 ,}ﬁ.ﬂ%‘jsag\

SN

5 g




